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The posts are all 4 feet apart. Post 1 is 4 feet from the5

h = the height of a post .

Section 5-5: Direct Variation
d = distance from the
eaves
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Find the ratio dﬂ for each post. Section 5-5:  Direct Variation

h Direct Variation is a special Linear Function.
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Make a scatter plot of the data in the table.
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g 5 e Does each table of values represent
Graph of direct variation a Direct Variation relationship?

g I8 2.
e The graph must be alline|that TV % V%

6285|417 S| 4| 54 Because the first two ratios will be larger
‘J( S than 1 and the third ratio will be less

passes through the Orgin. 522 | st 1 i 16) 155 than 1 this relation is NOT Direct Variation
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Because the third
ratio is not the same
as the first this is NOT
Direct Variation

Does each graph represent a Direct
Variation relationship?
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I\S O The only graph that is
BOTH a line and passes

through the origin is
graph #3. This is the only
Direct Variation relation.




